EC 370 Department of Economics

Intermediate Microeconomics II Wilfrid Laurier University
Instructor: Sharif F. Khan Spring 2008

Suggested Solutions to Assignment 4 (OPTIONAL)
Total Marks: 40

Part B Problem Solving Questions [40 Marks]

Read each part of the question very carefully. Show all the steps of your calculations to
get full marks.
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b)

For an allocation to be efficient, it must be the case that we cannot
reallocate the goods without making someone worse off. In this case, any
reallocation that takes pizza away from Sammy and gives some to Spencer
increases Spencer’s utility without lowering Sammy’s utility. Any
reallocation that takes ice cream away from Spencer and gives some to
Sammy increases Sammy’s utility without lowering Spencer’s utility.
Since this type of reallocation is possible, the initial allocation is not
efficient.

Draw the Edgeworth box, the initial allocation, and the indifference curves
for Sammy and Spencer.

Answer

c)
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Identify the contract curve.

Answer

The contract curve shows all allocations of goods in the Edgeworth box
that are economically efficient. Any allocation that gives any pizza to
Sammy or that gives any ice cream to Spencer is not efficient, because
giving pizza to Spencer raises Spencer’s utility without lowering Sammy’s
utility, and giving ice cream to Sammy raises Sammy’s utility without
lowering Spencer’s utility. Therefore, the contract curve consists of a
single point, where Sammy has all 8 gallons of ice cream and 0 pizzas and
Spencer has all 10 pizzas and 0 gallons of ice cream.
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